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EANEERERY—EXRS

(HEBUENTEETI-HDFE) (Bifr: M)
B & # B 9FEFHE 28X EFHE = B
SEIRA 2,712,000 2,729,000 -17,000
TEEEREIA 2,670,000 2,687,000 -17,000
FAlsEEIA 42,000 42,000 0
FEUA 1,000 1,000 0
ZDMDFHEINA 1,000 1,000 0
BREZEHEhESIRA 1,352,000 2,442,000 -1,090,000
X ET# 4@ B £ IRA 1,350,000 1,441,000 -91,000
BEEEFEPEIA 1,350,000 1,441,000 -91,000
Ebﬁiﬁﬂl)& 2,000 1,001,000 -999,000
1R L HFESHRSIA 1,000 1,000,000 -999,000
Lnili’rmﬂ)]mzﬁlbz)\ 1,000 1,000 0
BHEEFIRA 1,000 1,000 0
A BEFIA 1,000 1,000 0
S ZDDEESIIA 1,000 1,000 0
ZHFEERYSIA 1,000 1,000 0
® ZRFARSERA 1,000 1,000 0
= ZHRFEELEIRA 1,000 1,000 0
ZDHDUIXA 150,000 150,000 0
o) ZABHEE XA 100,000 100,000 0
HEURA 50,000 50,000 0
2 HARA 50,000 50,000 0
FEFHRAGW) 4,217,000 5,324,000 -1,107,000
& EEELH 752,000 703,000 49,000
P RIEFI X H 170,000 200,000 -30,000
EXTE- 515,000 416,000 99,000
IR HHREFEXH 290,000 200,000 90,000
EEPAR & 225,000 216,000 9,000
* FHHZH 1,000 1,000 0
~— AR ERX 1,000 1,000 0
% E-E i dan) 50,000 70,000 -20,000
SSMEXH 15,000 15,000 0
EBEXH 5,395,000 5,647,000 -252,000
REXBEEXH 810,000 822,000 -12,000
Hi EBEREXE 810,000 822,000 12,000
HHEM T E X H 50,000 100,000 -50,000
EHHEEREXRH 985,000 1,008,000 -23,000
HEREXH 985,000 1,008,000 -23,000
FIRI A E % H 200,000 244,000 -44,000
R E X 50,000 50,000 0
EiEE X 100,000 100,000 0
BIEERE X H 310,000 324,000 -14,000
= REEXH 53,000 62,000 -9,000
[GERE X H 50,000 150,000 ~100,000
S FHHZH 518,000 568,000 ~50,000
RIEH 2 H 116,000 60,000 56,000
& SREHXH 1,383,000 1,347,000 36,000
BN ERZ H 60,000 65,000 -5,000
B | x RrEXE 463,000 463,000 0
- BN EXH 50,000 50,000 0
- HEEEXH 136,000 136,000 0
| H wEMHREXN 1,000 1,000 0
BEEXH 60,000 97,000 ~37.000
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B # H 29FEFHEE 28 EFHE = &2

% B H 100,000 100,000 0
BiEEXH 100,000 100,000 0
1% RipAEEAEEIH 100,000 100,000 0
EXREHHEQ) 6,247,000 6,450,000 -203,000
- | EXFHE SN EEE(3)=(1)-(2) -2,030,000 -1,126,000 -904,000
IS I 0
51 | A [RERSRASNG 0 0 0
13',3213; EE & EREXH 1,000 3,180,000 3,179,000
| X B 2 ik B AR 15 2 o 1,000 3,180,000 3,179,000
= | & BHEEHRE RT3 1,000 3,180,000 —3,179,000
(= e 5% 2 {jf 35 3% HH 51H(5) 1,000 3,180,000 -3,179,000
MR BHEESINT EE(6)=(4)-(5) -1,000 -3,180,000 —3,179,000
— R X ERAEINA 353,000 2,831,000 —2,478,000
;‘g B m X ERAEINA 353,000 2,831,000 —2,478,000
ith NEREEENARSFHRASIA 1,000 200,000 -199,000
QD Iz BEEILY -t ABEMAR S HRALIA 1,000 200,000 -199,000
g EBMTESE AR SRASIA 350,000 2,430,000 -2,080,000
Iz RORESELEEIARHWRASINA 1,000 1,000 0
& | A [PEREDERAEIRA 1,400,000 600,000 800,000
E H—EXRHRERAZIRA 1,400,000 600,000 800,000
% BMESHEFE-LARSMBRASIA 1,400,000 600,000 800,000
— Z DD EENURAEH(T) 1,753,000 3,431,000 -1,678,000
EEXRDERAEXH 0 0 0
7 EERDHERAEXH 0 0 0
o ABRBERHERASZH 0 0 0
it | % |MRESERAEH 1,000 0 1,000
2 WEXOERAEIH 1,000 0 1,000
g; FHBENARATMEA ST 1,000 0 1,000
(= Y—ERR S HERAEZH 1,001,000 901,000 100,000
£ | & H—EXRHRERAS I H 1,001,000 901,000 100,000
%) EMESERESREI-tARPEBRAE I H 1 ,000 1 Y000 0
”é iR EE- AR S HRAS I H 1 ,000,000 900000 1001000
— Z DD EENZ HEH(8) 1,002,000 901,000 101,000
ZFDMDFEE S INTEEE(9)=(7)~(8) 751,000 2,530,000 1,779,000
¥ fm & X H(10) 20,000 24,000 -4,000

LHIE LI EEE A ET(11)=(3)+(6)+(9)-(10) -1,300,000 -1,800,000
ARV EERZE12) 1,300,000 1,800,000 -500,000
LRI EEERSU1)+(12) 0 0 0
UR A B EH1)+H@)+71)+(12) 7,270,000 10,555,000 -3,285,000
T H A ET@)+5)+8)+(10) 7,270,000 10,555,000 -3,285,000
=51&s 0 0 0




EMEEREFETEARS

CENEERUEEAICREIBENDAHESEFE) (B A)

B F ¥ B VFEEFHE 28X EFHE = B
RERE@EhESERA 53,500,000 50,559,000 2,941,000
= 4% X ETFH B EIRA 53,500,000 50,559,000 2,941,000
A BEEEFEPEIRA 53,500,000 50,559,000 2,941,000
*® EEIFEURAE) 53,500,000 50,559,000 2,941,000
AHEZH 51,909,000 47,396,000 4,513,000
& BRI H 35,033,000 31,671,000 3,362,000
BEE5 T 10,064,000 9,018,000 1,046,000
LY/ EERHNEZH 6,812,000 6,707,000 105,000
= | % EBEXH 663,000 600,000 63,000
- BHEEEZH 262,000 262,000 0
& RERBEXH 150,000 150,000 0
H SEERES SN 150,000 150,000 0
% HHEM T E X H 100,000 80,000 20,000
EBEERERH 151,000 108,000 43,000
1% HEDBETH 150,000 107,000 43,000
% wEEREXH 1,000 1,000 0
_ EXEHIHEQ 52,572,000 47,996,000 4,576,000
EETFHESIZ EE(3)=(1)—(2) 928,000 2,563,000 -1,635,000

1z Iz
£ | A [ RRERERAGE 0 0 0
g | X

i | | MR EREE R HETG) 0 0 0
—F R REE U EZE(6)=(4)-(5) 0 0 0
In |—EXXSREEATIRA 1,000 1,000 0
7 H—EXRSERAZIRA 1,000 1,000 0
D EANEEBEY-CARSRIRALINA 1 ,000 1 ,000 0
i | A [FothoEEsRAED) 1,000 1,000 0
% 2 Y—EXARSERAEZH 4,309,000 3,164,000 1,145,000
| X H—EXRSERAEIH 4,309,000 3,164,000 1,145,000
) EATEEES AR AEAS L 1,400,000 600,000 800,000
< EBEEISY-EARSHRASXH 2,609,000 2,564,000 45,000
%: H SRR AR A AR 300,000 0 300,000
I Z DD EE) X HE1(8) 4,309,000 3,164,000 1,145,000
FDMDFERE SINK E58(9)=(7)-(8) -4,308,000 -3,163,000 -1,145,000
¥ fis & 2 Hi(10) 20,000 600,000 -580,000
HEE SN ERESET(11)=(3)+(6)+(9)-(10) -3,400,000 -1,200,000 -2.200,000
AR IV EEES(12) 3,400,000 1,200,000 2,200,000
LHERIILEEERSU1)+(12) 0 0 0
IRA&E 56,901,000 51,760,000 5,141,000
XHEE 56,901,000 51,760,000 5,141,000
E51%5 0 0 0




BBRISY—EXRS

(EBENEBEIETH) (B M)
B F ¥ B VFEEFHE 28X EFHE = B
Iz
g,% A : =
H)z% EEFHINAGO) 0 0 0
& ¥ AGEZH 0 0 0
L BB 1 S 0 0 0
LE EEFHRHAQ 0 0 0
SEREBESINZZEE(3)=(1)-(2) 0 0 0
& T J}% _ _
% &% MEER B IEFINAET@) 0 0 0
Iy 2
% 1 ﬁ
“I%_' ERERE X0 0 0 0
~ | MEER B REE UK EEA(6)=(4)-(5) 0 0 0
EXXSHEBRAZIA 785,000 768,000 17,000
EERXRSERAZIA 785,000 768,000 17,000
ABELERHRERALIA 785,000 768,000 17,000
B X 5 TR A IR A 1,906,000 1,610,000 296,000
z A XS ERAEIA 1,906,000 1,610,000 296,000
D | Yx FRBLFENARSMEASRA 260,000 0 260,000
ith NERIRE AR X 5 BRAZIRA 812,000 789.000 23,000
?) BEELY -t ABEMARSRBALIRA 834,000 821,000 13,000
g A [ —ExRESE@AZIA 2,609,000 2,564,000 45,000
- H—EZR D REZAZIA 2,609,000 2,564,000 45,000
& FHESREFLY-tARSMBASIA 2,609,000 2,564,000 45,000
) ZTDMDIFEIZLDHINA 0 0 0
)} EBF LR STEFSIEENA 0 0 0
X Z DD FEEIURAEH(T) 5,300,000 4,942,000 358,000
~— % ZTDMDFEIZLDHZ H 5,300,000 4,942,000 358,000
m BT LSBT ESTETS XM 5,300,000 4,942,000 358,000
Z DD EE)Z HE1(8) 5,300,000 4,942 000 358,000
Z DD FENE £ UNZ ZEFA(9)=(7)-(8) 0 0 0
¥ fis & 2 Hi(10) 0 0 0
HHE R UNZ EZE S ET(11)=(3)+(6)+(9)-(10) 0 0 0
BRI EEZE(12) 0 0 0
LHERIILEEERS(U1)+(12) 0 0 0
IRAEET 5,300,000 4,942,000 358,000
XHEE 5,300,000 4,942,000 358,000
E51%5 0 0 0




M EAERER Y —EXX S

(Hhigi AL EEN T &) (B M)
B & # B VFEEFHE 28X EFHE = B
BREREHEhESIRA 211,000 80,000 131,000
B EURA 211,000 80,000 131,000
1]|§ BHREESHRSIA 1,000 80,000 -79,000
BB EIRA 210,000 0 210,000
FEFHRAGW) 211,000 80,000 131,000
EXEXH 2,326,000 2,270,000 56,000
HESRERREH 100,000 108,000 -8,000
= REEH X H 100,000 100,000 0
S EEEH 46,000 180,000 ~134,000
& HREEEXH 20,000 150,000 -130,000
g B E 26,000 30,000 -4,000
- HHEM T & X H 150,000 110,000 40,000
£ | X FEES 170,000 0 170.000
Jﬁ RERE X H 1,000,000 1,000,000 0
¥ | W FHOH i 100,000 100,000 0
9 EHEH 180,000 192,000 -12,000
RXnEXxEXH 400,000 400,000 0
A EREEXEEEEXH 80,000 80,000 0
B X 2,544,000 2,544,000 0
B 2,544,000 2,544,000 0
Xt BB E X 2,544,000 2,544,000 0
EEREHZHE(2) 4,870,000 4,814,000 56,000
EXFEBESINZEZE(R)=(1)-(2) -4,659,000 -4,734,000 75,000
1= Iy
gg A [EEERZERATG 0 0 0
g | X
wie | B [EREEEZHEEG) 0 0 0
| EEREEEESINT EEE6)=(4)-(5) 0 0 0
W a X EIEAEIRA 3,170,000 3,064,000 106,000
B a X EEAZINA 3,170,000 3,064,000 106,000
— NERERELENARSFRASIRA 1,000 400,000 -399,000
0%) BEEILY - AFERARSMRARIRA 1,000 700,000 -699,000
ﬁiﬂ, lll EERTEESEUSARPREBRALINA 371 68,000 1 ,964,000 1 ,204’000
o | A|H—EXRSBRAZIA 1,300,000 900,000 400,000
& H—EXARDEBRASIRA 1,300,000 900,000 400,000
g EABEF RS- AEABRARIA 1,000,000 900,000 100,000
Iz BFESREBL L ARHTEASIA 300,000 0 300,000
& Z DD EENURAET(T) 4,470,000 3,964,000 506,000
E WaXDERAEXZ N 10,000 33,000 -23,000
¥ | X L i X 7 FET R 2 3 10,000 33,000 23,000
- H ARBERASBENARA MBS 10,000 33,000 -23,000
Z DD EENZ HETH(8) 10,000 33,000 -23,000
FDMDFEEE S INTEEE(9)=(7)~(8) 4,460,000 3,931,000 529,000
¥ & X H(10) 1,000 47,000 -46,000
LHIEEINZ EEE S ET(11)=(3)+(6)+(9)-(10) -200,000 -850,000 650,000
ARV EEZE(12) 200,000 850,000 -650,000
ZHRZILEEESU1)+(12) 0 0 0
IRA&E 4,881,000 4,894,000 -13,000
THAEE 4,881,000 4,894,000 -13,000

_5_




filt

#

H

0FEETHE |

2EETHE |

\
/

=51%&S

0

0



RILDELKYEEY—ERR S

(IZRAEX MR H TSR, JIEEFE) (Bifz: M)
B F ¥ B VFEEFHE 28X EFHE = B
ZEEEUNA 2,660,000 2,560,000 100,000
= iR HXETF ZEEEIRA 2,660,000 2,560,000 100,000
= | 2 BUOELIYFLZHEINA 2,660,000 2,560,000 100,000
E EXEHIAGA) 2,660,000 2,560,000 100,000
£ EEEXH 20,000 20,000 0
- HESREHESEXH 20,000 20,000 0
& | X Bk & X H 2,640,000 2,540,000 100,000
f H B E X 2,640,000 2,540,000 100,000
é Xt i E S X 2,640,000 2,540,000 100,000
_ EXEHHEQ) 2,660,000 2,560,000 100,000
SEREBESINZZEE(3)=(1)-(2) 0 0 0
1z IR
;gg A [EEEBRERA® 0 0 0
| X
on | H BREREZHEG) 0 0 0
—E | EREREE I ELE(6)=(4)-(5) 0 0 0
| IR
22 A FomoEmEAED 0 0 0
S
”7‘;0) H [ZothoEs % HEts) 0 0 0
SEZ DD FEEE S INTEE8(9)=(7)-(8) 0 0 0
¥ fis & 32 Hi(10) 0 0 0
HEE SN ERESET(11)=(3)+(6)+(9)-(10) 0 0 0
BRI EEZE(12) 0 0 0
ZHERIILEEERS(U1)+(12) 0 0 0
IRA&EE 2,660,000 2,560,000 100,000
XHEE 2,660,000 2,560,000 100,000
E51%5 0 0 0




BWEERESEI—EXARS

(MT2EEE HEZSHEFH) (B2 M)
B F ¥ B VFEEFHE 28X EFHE = B

ZEEEUNA 6,940,000 6,550,000 390,000

i iR HXETF ZEEEIRA 6,940,000 6,550,000 390,000

= | 2 BESBREBEZRLIA 6,940,000 6,550,000 390,000

& EEFHRAGW) 6,940,000 6,550,000 390,000

z Bk & X H 6,940,000 6,550,000 390,000

& | X B E X 6,940,000 6,550,000 390,000

ﬁ " Xt BB E X H 6,940,000 6,550,000 390,000

% EEEHZHEQ) 6,940,000 6,550,000 390,000

— | BXEFHESIZ EE(3)=(1)-(2) 0 0 0
1z IR

£% | A [REBBSWARG 0 0 0
| X

i | H [EEREE X HEEG) 0 0 0

—E | EREREE I ELE(6)=(4)-(5) 0 0 0
_J IR

%% A [zt oESHIRAE) 0 0 0
S

HZ;@ H | 2Dt ES) K HEHB) 0 0 0

FE|F DO FEEE S INTEEE(9)=(7)~8) 0 0 0

¥ fis & 32 Hi(10) 0 0 0

HEE SN ERE S ET(11)=(3)+(6)+(9)-(10) 0 0 0

AR I EETES(12) 0 0 0

HHRZILEEERSU1)+H(12) 0 0 0

IRA&EE 6,940,000 6,550,000 390,000

XHEE 6,940,000 6,550,000 390,000

E51%5 0 0 0




DECEHEHMATEEREEY —EXARS

(FTZEEE  DECIENMEEEE) (Bfr:M)
B xE ® B VFEEFHE 28X EFHE = B
ZEEEUNA 174,000 174,000 0
g | HXETA ZELIRA 174,000 174,000 0
£ A DR AHFEE B ERESRA 174,000 174,000 0
& EEFHRAGW) 174,000 174,000 0
EZJ EEEXH 174,000 174,000 0
r | X | REXBEXH 30,000 30,000 0
F3 ZEEREXH 30,000 30,000 0
iy | EHS I 144,000 144,000 0
* EEEHZHEQ) 174,000 174,000 0
— | BEFHESINZEZE(3)=(1)-(2) 0 0 0
1z IR
£ | A [BRERSRAL@ 0 0 0
e | X
¥ | AR B S S HEH(5) 0 0 0
—E | EREREE I ELE(6)=(4)-(5) 0 0 0
_J IR
22 A FomoEmmAED 0 0 0
S
”7‘;0) H [ZothnEs % HEts) 0 0 0
SEF DD EEE ST EEE(9)=(7)-(8) 0 0 0
¥ fis & 32 Hi(10) 0 0 0
HEE RN ERESET(11)=(3)+(6)+(9)-(10) 0 0 0
AR I EEES(12) 0 0 0
ZHRZILEEERS(U1)+(12) 0 0 0
IRA&EE 174,000 174,000 0
XHEE 174,000 174,000 0
E51%5 0 0 0




RIVTATEA—BEERTRY—EXRS

BIZRAEE RS TATESA—EETFE) (Bfsr: M)
B F ¥ B VFEEFHE 28X EFHE = B
I ZEEEUNA 1,043,000 1,000,000 43,000
T XET# ZEEEIRA 1,043,000 1,000,000 43,000
A FIVTAT LI BEBEZIEEIRA 1,043,000 1,000,000 43,000
ZEREIURAEO) 1,043,000 1,000,000 43,000
= AHEXH 0 0 0
B B 5 S H 0 0 0
% BEE5XH 0 0 0
EERMNERH 0 0 0
& EEEXH 1,043,000 1,000,000 43,000
HERERSEXH 300,000 300,000 0
LY/ REHXE 7,000 7,000 0
= | % SEflxH 107,000 107,000 0
wREXBERZH 15,000 15,000 0
& B EREX H 15,000 15,000 0
H PHEMEE X H 15,000 15,000 0
% FRIEARE X H 30,000 30,000 0
EfEE T H 70,000 70,000 0
1% BIEBRE R 189,000 189,000 0
% HEHlEXH 280,000 237,000 43,000
_ BEEXH 30,000 30,000 0
EBEXH 0 0 0
EAEEEZH 0 0 0
EXRFBIZHE(2) 1,043,000 1,000,000 43,000
EETHESIZ EE(3)=(1)—(2) 0 0 0
1z I
$B | A [REBBSRARG 0 0 0
e | X
i | | RS HETG) 0 0 0
—E | EREREE I EE0(6)=(4)-(5) 0 0 0
_J 4=
;f(,? A |Z0thEBIRATD) 0 0 0
_ S X
> ol H [FOROEBEHETE) 0 0 0
FE T DD EENE U ZEE8(9)=(7)-(8) 0 0 0
¥ fis & 2 Hi(10) 0 0 0
HHE R UNZ EZE S ET(11)=(3)+(6)+(9)-(10) 0 0 0
AR IV EEES(12) 0 0 0
LHERIILEEERSU1)+(12) 0 0 0
IRAEE 1,043,000 1,000,000 43,000
XHEE 1,043,000 1,000,000 43,000
E51%5 0 0 0
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ARERXEANERERY—EIARS
(MTZAEE PAMEFIERHEBREXICRITE. BEADEERVARESE) (i)

B F ¥ B VFEEFHE 28X EFHE = B
ZEEEUNA 4,899,000 0 4,899,000
iR HXETF ZEEEIRA 4,899,000 0 4,899,000
A EEX BRI EESEZIIENA 4,899,000 0 4,899,000
EEFHRAGW) 4,899,000 0 4,899,000
AGEXH 4,027,000 0 4,027,000
= BRI H 2,755,000 0 2,755,000
BEE5 T 767,000 0 767,000
e EERMEXH 505,000 0 505,000
EEEXH 508,000 0 508,000
& HERERREH 100,000 0 100,000
BIEEREZH 20,000 0 20,000
l EXTE - 100,000 0 100,000
(- B E 100,000 0 100,000
S| % REXBEXZH 228,000 0 228,000
& ZEFEREXH 228,000 0 228,000
H ELE oA 30,000 0 30,000
) BREEXH 30,000 0 30,000
EBEXH 104,000 0 104,000
1% BAEEBEX L 34,000 0 34,000
% mREXBEXH 40,000 0 40,000
_ 1% 8 iR E 32 H 40,000 0 40,000
HHEM T E X H 10,000 0 10,000
EBEERERH 20,000 0 20,000
HEREXH 20,000 0 20,000
EXEHXHE2) 4,639,000 0 4,639,000
EEEFHESINZEE(3)=(1)-(2) 260,000 0 260,000
1z I
gg ; EREBEA 0 0 0
%)
22 | & nuEmEEEa0 0 0 0
—E | EREREE I EEE(6)=(4)-(5) 0 0 0
| i (R RS RERRAEIA 1,000 0 1,000
T LA XD RIBALIRA 1,000 0 1,000
D MR R AR ATIRASITA 1,000 0 1.000
g A FohoEBRAO) 1,000 0 1,000
Xz | X |NARSBERAEIH 260,000 0 260,000
~ % B2 X 53 A 8 32 260,000 0 260,000
[: B B XN AR S HRAS I H 260,000 0 260’000
£ | B [FomoEaZEH®E) 260,000 0 260,000
B |Z0tDESHELINTZELE(9)=(7)-(8) -259,000 0 -259,000
¥ fi & 2 Hi(10) 1,000 0 1,000
LEE S UNZ ERESET(11)=(3)+(6)+(9)-(10) 0 0 0
AR IV EEES(12) 0 0 0
LHERIILEEERSU1)+(12) 0 0 0
IRAEE 4,900,000 0 4,900,000
XA 4,900,000 0 4,900,000
E5|1%5 0 0 0

_‘I‘I_




HEAFERIEEFY—EARS

(ARBEEROBICLIEETEH) (B )
B xE ® B VFEEFHE 28X EFHE = B
BREREHEhESIRA 6,739,000 6,747,000 -8,000
HEISZSEEDEINA 6,739,000 6,747,000 -8,000
g | —REERI,TINA 3,939,000 3,947,000 -8,000
BRTHHLOESSIA 2,800,000 2,800,000 0
3 ZHASRISEIRA 1,000 1,000 0
A ZIFI AR LS INA 1,000 1,000 0
& SHRAEERLEIRA 1,000 1,000 0
EEFHRAGW) 6,740,000 6,748,000 -8,000
= HRIZERIEEXEE 6,750,000 6,781,000 -31,000
- —REERIEEEE 3,949,000 3,980,000 -31,000
- LR -ERETHE 193,000 160,000 33,000
& ZANBIESE 2,926,000 3,035,000 -109,000
X BER ERILZOE 180,000 180,000 0
% BF - RFEILESE 80,000 80,000 0
" BUER - EOEDE 570,000 525,000 45,000
iR KT ENEREES 0 0 0
- BR-T THVRISEEE 2,800,000 2,800,000 0
_ & & 3 1,000 1,000 0
EXRFBITHE(2) 6,750,000 6,781,000 -31,000
EETFHESIZ EE(3)=(1)—(2) -10,000 -33,000 23,000
1z Iz
;gg A [EEEBRERA® 0 0 0
| X
on | H BREREZHEG) 0 0 0
—E | EREREE I EEH(6)=(4)-(5) 0 0 0
A X EEAEIA 10,000 33,000 -23,000
7| I® Bl X 5 TR A URA 10,000 33,000 -23,000
z D bt AEA LR R S R A S INA 10,000 33,000 -23.000
14311;—;' A EAEL - AB RIS RS EA SIRA 0 0 0
Xz Z Dt D EBHURAEH(T) 10,000 33,000 ~23,000
| X
S| B | Z0thESHZ HEHB) 0 0 0
¢ [FotnzEsE2IE =59)-(1)(8) 10,000 33,000 -23,000
¥ fis & 32 Hi(10) 0 0 0
HHE RN EZE S ET(11)=(3)+(6)+(9)-(10) 0 0 0
BRIV EEZE(12) 0 0 0
LHERIILEEERSU1)+(12) 0 0 0
IRA&E 6,750,000 6,781,000 -31,000
XHEE 6,750,000 6,781,000 -31,000
E51%5 0 0 0
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BENEXEEES—EARS

(BENEIETEMEEFE NERBREXDITIVERERUNEZEEMEDOAGE)  (HA:MH)
B E # H VFEEFHE 28X EFHE = B
NEEREREEIA 12,584,000 10,320,000 2,264,000
BENEIENEFIA 11,616,000 10,020,000 1,596,000
BENEX B EFIA 11,616,000 10,020,000 1,596,000
IR NETTHRE N ERIA 1,000 0 1,000
ZTDDEZEILA 968,000 300,000 668,000
SFREERA 968,000 300,000 668,000
A [ZDHDIRA 1,000 1,000 0
HUARA 1,000 1,000 0
HARA 1,000 1,000 0
g EEFHRAGW) 12,585,000 10,321,000 2,264,000
AGEZH 11,858,000 11,700,000 158,000
£ BB ek X H 3,642,000 3,520,000 122,000
BEESXH 1,259,000 1,234,000 25,000
& FEEHHEHRE 5,276,000 5,276,000 0
EEENERH 1,681,000 1,670,000 11,000
l EXEXH 1,455,000 1,548,000 -93,000
- EHEREEREXH 78,000 78,000 0
- Rk H 35,000 40,000 ~5,000
& SEHXH 600,000 600,000 0
% HWEX 156,000 180,000 -24,000
% B E 156,000 180,000 -24,000
wREXBERZH 15,000 30,000 -15,000
i ERHERE X H 15.000 30,000 15,000
- Hi HEREEX H 10,000 30,000 20,000
_ RIS A E 32 15,000 20,000 -5,000
EiEE X 100,000 100,000 0
BIEEMRE 195,000 195,000 0
FHHXH 10,000 30,000 -20,000
REH R H 240,000 240,000 0
BREEXH 1,000 5,000 -4,000
EBEXH 92,000 92,000 0
BEIELEERH 92,000 92,000 0
EXFHHEQ 13,405,000 13,340,000 65,000
EEEFHESINZEE(3)=(1)-(2) -820,000 -3,019,000 2,199,000
IR

| A [ERERERATE 0 0 0
Iz &% EE & EREX T 2,000 2,000 0
% ffg e HimERE RS 1,000 1,000 0
= HEERE SIS 1,000 1,000 0
(= FHERWMERIG X H 1,000 1,000 0
X 16 5% B il X HHEH(5) 2,000 2,000 0
5 | R E B EE S I E58(6)=(4)-(5) -2,000 -2,000 0
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B xE ® H 20FETHEEE | 28FETELE | = 2
Y—EXR A HEREAZIRA 1,000 1,000 0
7 | BT cazsmersRA 1.000 1.000 0
) A H—LALTEEY-E AR EHEASINA 1,000 1,000 0
1t Z DD FEIRAGHT) 1,000 1,000 0
fD HRRDERAEIH 406,000 993,000 -587,000
g 3 X 7 AR A 4 3 406,000 993,000 587,000
': i BB EENSR O EBRASTH 406,000 9937000 —587,000
x Y—ERRSHERAEXZH 1,000 2,000,000 -1,999,000
5 | m H—EXRHRERASIH 1,000 2,000,000 -1,999,000
IR H—Lah7 TR - AESBRA R 1,000 2,000,000 -1,999,000
X Z DD EENZ HEH(8) 407,000 2,993,000 —2,586,000
— | ZDHDEBE LI EEE(9)=(7)-(8) -406,000 —2,992,000 2,586,000
¥ i & 2 Hi(10) 152,000 487,000 -335,000
LEIE D INT EEE S ET(11)=(3)+(6)+(9)-(10) -1,380,000 -6,500,000 5,120,000
AR ZILNEEZE(12) 1,380,000 6,500,000 -5,120,000
RN EEERS(11)+(12) 0 0 0
IRAEE 13,966,000 16,822,000 -2,856,000
XHER 13,966,000 16,822,000 -2,856,000
=515%E 0 0 0
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R—LANIILTEES—ERXRXR S
(RN ESLFEETE N ERRELDOFENERE, AN -RUBBAN-OAEES) (H1:M)

B F ¥ B VFEEFHE 28X EFHE = B
ZEEEUNA 288,000 250,000 38,000
HXETF ZEEEIRA 288,000 250,000 38,000
FETCXBEAN-TREBEZITSWMA 288,000 2507000 38’000
EEILA 96,000 50,000 46,000
ZDDEFEILA 96,000 50,000 46,000
FI AR A 96,000 50,000 46,000
NEEREREEIA 11,504,000 14,192,000 -2,688,000
BENEHITA (N EREIA) 8,357,000 12,900,000 -4,543,000
EEERANIR A 6,362,000 7,710,000 -1,348,000
N EEF B RENIRA 1,995,000 5,190,000 -3,195,000
EEN LA FIFERESINA) 929,000 1,291,000 -362,000
NEEEEIAR 706,000 771,000 -65,000
I NEEIEENRANRE) 1,000 0 1,000
NEFHEELINA—R) 221,000 520,000 -299,000
NEFHEELINAAE) 1,000 0 1,000
NEFI- BEEELIERABERA 2,217,000 0 2,217,000
A EZENA 1,995,000 0 1.995.000
EEEHAALINA (AE) 1,000 0 1,000
EEEHAELINA (—R) 221,000 0 221,000
z ZDMDEEIA 1,000 1.000 0
ZEEEZEIA 1,000 1,000 0
* ZDHDIXA 2,000 1,000 1,000
= 2 AHEEIRA 1,000 0 1,000
! U 1,000 1,000 0
& HMARA 1,000 1,000 0
SZIFERLSEIRA 1,000 1,000 0
(2 4GSR RV PN 1,000 1,000 0
SZEF BB BT URA 1,000 1,000 0
& FEFHRAGO) 11,891,000 14,493,000 -2,602,000
2 AHEXZH 12,336,000 15,326,000 -2,990,000
B E AR 4,016,000 5,803,000 -1,787,000
Iz BEESXH 1,572,000 1,572,000 0
FEHBEEHRE X 5,506,000 6,759,000 -1,253,000
53 EERAE 1,242,000 1,192,000 50,000
— EXEXH 1,382,000 3,358,000 -1,976,000
% REGFEEXH 20,000 20,000 0
R E X 15,000 30,000 -15,000
HEREREREXE 50,000 161,000 -111,000
RIEH 2 H 550,000 600,000 -50,000
Hi BRI 370,000 460,000 ~90,000
HHE X H 262,000 1,530,000 -1,268,000
HWMREEEXH 100,000 702,000 -602,000
EL oS SE - 162,000 828,000 -666,000
REXBEEXH 1,000 30,000 -29,000
HBERE X H 1,000 30,000 -29,000
HHEM T E X H 1,000 25,000 -24,000
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B & ®# B 20FETHEEE | 28FETELE | = B
FNR S AR E T H 1,000 65,000 -64,000
EiEE X H 50,000 120,000 ~70,000
= BIEEHREX T 1,000 177,000 ~176,000
* EREZH 10,000 20,000 ~10,000
s ~ FHEIH 1.000 50,000 ~49,000
Ei] m HEXH 10,000 10,000 0
£ |- HElEXH 30,000 50,000 -20,000
3 BEEW 10,000 10,000 0
I EHBEXH 245,000 245,000 0
2 EAEEERH 245,000 245,000 0
— EXREHHEQ) 13,963,000 18,929,000 -4,966,000
FEEFHESINZEE(3)=(1)—(2) -2,072,000 -4,436,000 2,364,000

I

| A [EEEmERAGNG 0 0 0
I = B E & EIREX H 2,000 2,000 0
% }‘; X HEREREI 1,000 1,000 0
OF: HIEREREEH 1,000 1,000 0
(- | BERVERIEXH 1,000 1,000 0
IS R B E T () 2,000 2,000 0
5 | BEEE SN EEE(6)=(4)-(5) -2,000 -2,000 0
B X EEAEIRA 1,200,000 2,500,000 -1,300,000
B m X REEAEIA 1,200,000 2,500,000 -1,300,000
— 1)} EEEUY -t ABEH AR SREAZIA 1,200,000 2,500,000 -1,300,000
< J—E AR ABRAZIA 1,000 2,000,000 1,999,000
s A H—EXRHRERASIRA 1,000 2,000,000 -1,999,000
0) BENMEZIRESEEI-tARPEBRASIA 1 ,000 2,000000 —1 Y999’000
& Z DD EENURAET(T) 1,201,000 4,500,000 -3,299,000
g WE XD ERAEX N 407,000 396,000 11,000
< WEXoERAEXH 407,000 396,000 11,000
J: i BB EEN AR PERAE I H 407,000 396000 1 '000
ﬁ’z S—EARN AL H 1,000 1,000 0
% i H—EZRDRIBAL T H 1,000 1,000 0
— BENEXIESEI-CARSRIBAEZH 1,000 1,000 0
Z DD EENZ HETH(8) 408,000 397,000 11,000
ZFDMDEEE S INZ E58(9)=(7)-(8) 793,000 4,103,000 -3,310,000
¥ & X H(10) 19,000 115,000 -96,000
LHIE LI EEE A ET(11)=(3)+(6)+(9)-(10) -1,300,000 -450,000 -850,000
ARV EEZE12) 1,300,000 450,000 850,000
ZHRZILEEERSU1)+(12) 0 0 0
IRAEE 14,392,000 19,443,000 -5,051,000
XHEE 14,392,000 19,443,000 -5,051,000
=51&5 0 0 0

_16_




EERILY—ERFRXRY—EXRS

(EEEERENEESSTLEEETE BEELREZBERICEEENESE, BBAIIN-ODAHE) (Bhi:H)
B F ¥ B VFEEFHE 28X EFHE = B
BREREHEhESIRA 1,000 1,000 0
X ET 4@ B £ IRA 1,000 1,000 0
Z DD EENEURA 1,000 1,000 0
Iy [EERUY—EXZERENA 4,929,000 4,587,000 342,000
B XIERTEIA 4,449,000 4,183,000 266,000
N EERTEINA 4,449,000 4,183,000 266,000
FMAZEGEESIRA 480,000 404,000 76,000
Z | A ZRAERLSERA 1,000 1,000 0
ZHF BB URA 1,000 1,000 0
* ZHRFEE LEIRA 1,000 1,000 0
= EEFHRAGW) 4,931,000 4,589,000 342,000
! ANHEZH 3,012,000 2,978,000 34,000
EJ) FEHREES I 3,012,000 2,978,000 34,000
EXEXH 2,307,000 1,316,000 991,000
2 REFEERH 60,000 60,000 0
EHREREEREXH 300,000 200,000 100,000
& eI H 327,000 276,000 51,000
2 | X HWEX 1,120,000 370,000 750,000
HRpREEE L 652,000 100,000 552,000
Y B AR 468,000 270,000 198,000
mREXBEXH 30,000 30,000 0
% | BHERE XL 30,000 30,000 0
~— HHEM T E X H 10,000 10,000 0
FIRI AR E X H 180,000 100,000 80,000
EfEE X 100,000 100,000 0
BIEEMRE X 160,000 160,000 0
FHHXH 20,000 10,000 10,000
EXFHHEQ 5,319,000 4,294,000 1,025,000
SEEFHESINZEE(3)=(1)-(2) -388,000 295,000 -683,000
1z I
£R | A [ERERERAL@ 0 0 0
e | X
wig | [ EE T HEG) 0 0 0
—E |EREREE I EE0(6)=(4)-(5) 0 0 0
Y—EXX A ERAZIRA 175,000 1,000 174,000
i H—EZRHRERAZIRA 175,000 1,000 174,000
r%* A HSRXIEEEY-C AR A ERALIRA 175,000 1,000 174,000
D Z DD EENRAEHT) 175,000 1,000 174,000
fth Ba X EEAERH 1,202,000 3,400,000 -2,198,000
) R XoEEAEZE 1,202,000 3,400,000 -2,198,000
SE ¥ WERIE ER AR A EEAS XD 2.000 900,000 ~398,000
Eii] ﬁ HRAZEEASNARSEBRASZH 0 0 0
X ABERRERIAR SRR SE 1,200,000 2,500,000 ~1,300,000
% H—EZRDEBASZE 1,000 1,000 0
”é J—EARHRBASXE 1,000 1,000 0
. HARBEEEY- AR DEBRASIH 1,000 1,000 0
Z DD EENZ HETH(8) 1,203,000 3,401,000 -2,198,000
FDMDFEEE S INTEEE(9)=(7)~(8) -1,028,000 -3,400,000 2,372,000
¥ & X H(10) 84,000 895,000 -811,000
LEIEEINZ EZE S ET(11)=(3)+(6)+(9)-(10) -1,500,000 -4,000,000 2,500,000
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B xE ® B | 29FESELE | 8EETELE | = B
BRI ELES2) 1,500,000 4,000,000 -2,500,000
LHRITIWELES(01)+(12) 0 0 0
IRAEE 6,606,000 8,590,000 -1,984,000
XHEE 6,606,000 8,590,000 -1,984,000
=Z51%&5 0 0 0
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HAXBEEFRY—EARS
(

R R BN EF R EE T BEERAERICE OGIEMEBY L AEFAHEQERES) (BEf:A)

EEREE VFEEFHE 28X EFHE = B
BREREHEhESIRA 1,000 1,000 0
I T XETA B XA 1,000 1,000 0
Z DD EENEURA 1,000 1,000 0
EEREAY—EREERZEILA 396,000 533,000 -137,000
= B XEHRATERA 396,000 533,000 -137,000
A STERA X ERAERA 396,000 533,000 -137,000
S EEIFEURAE) 397,000 534,000 -137,000
EXEXH 620,000 642,000 -22,000
& P E X 35,000 0 35,000
HESREHRESEXH 30,000 20,000 10,000
= RIEFI X H 7,000 7,000 0
- SEflxH 240,000 312,000 -72,000
- HRE X 11,000 22,000 ~11,000
& X HERHE 11,000 22,000 -11,000
mREXBEXH 10,000 10,000 0
%) A REX H 10,000 10,000 0
H PHEMREX H 26,000 10,000 16,000
1% FIRIE AT X 1,000 1,000 0
% EfEE T H 100,000 100,000 0
_ BISEMRE X H 20,000 20,000 0
FHAH 10,000 10,000 0
REFIH 130,000 130,000 0
EXRFBIZHE(2) 620,000 642,000 -22,000
EETHESIZ EE(3)=(1)—(2) -223,000 -108,000 -115,000
1z I
$B | A [REBBSRARG 0 0 0
wE | XL _
wig | [ EE T HEG) 0 0 0
—E | EREREE I EE0(6)=(4)-(5) 0 0 0
Y—EXX A ERAZIRA 1,000 1,000 0
7| H—F AR ARE@RASIIA 1,000 1,000 0
DA BRI —C ABES L AR S RASIA 1,000 1,000 0
o Z DD FEEIURAEH(T) 1,000 1,000 0
*x fD Y—EXRAHERAEXZH 176,000 2,000 174,000
— §JJ - H—EZARHRERAEIH 176,000 2,000 174,000
= H BERLY —EREEY-C AR MBAR I 175,000 1,000 174,000
& YAESEEE LY AR MBALH 1,000 1,000 0
) Z DD EEN K HEH8) 176,000 2,000 174,000
IR [z n e iEENE £ INX Z48(9)=(7)~(8) -175,000 -1,000 -174,000
¥ fi & 2 Hi(10) 2,000 41,000 -39,000
LHE S UV EEB S 5H(11)=(3)+(6)+(9)-(10) -400,000 -150,000 -250,000
AR IV EEES(12) 400,000 150,000 250,000
LHERIILEEERSU1)+(12) 0 0 0
IRAEE 798,000 685,000 113,000
XHEE 798,000 685,000 113,000
E51%5 0 0 0
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YAESERFTBEESE XY —EXARSD

(i EE R IE A —YAESEEFTDZEEETE) (Bfr: M)
EEREE VFEEFHE 28X EFHE = B
FHEIA 1,000 1,000 0
FAEUIA 1,000 1,000 0
ZDHDEFFEINA 1,000 1,000 0
ZEEEUA 27,500,000 27,000,000 500,000
Iz HXETF ZEEEIRA 27,500,000 27,000,000 500,000
VAESERAEERRZAENA 27,500,000 27,000,000 500,000
EEILA 3,500,000 3,500,000 0
ZTDDEZEILA 3,500,000 3,500,000 0
A FEEIBEIRA 3,500,000 3,500,000 0
ZHF SRS SUA 1,000 1,000 0
ZHF SR L ESUA 1,000 1,000 0
ZIF B LS UINA 1,000 1,000 0
= EEFHRAGO) 31,002,000 30,501,000 501,000
ANGFEXH 22,165,000 21,677,000 488,000
* BB X 15,235,000 14.859.000 376,000
= BEES5XH 3,852,000 3,750,000 102,000
! EERAEXH 3,078,000 3,068,000 10,000
EJ) EXEXH 7,847,000 7,847,000 0
RE@mEEH 40,000 15,000 25,000
Iz KESEE 1,194,000 1,194,000 0
AR R H 160,000 160,000 0
& EHERERERE XL 467,000 467,000 0
2 R X H 493,000 493,000 0
e H 347,000 347,000 0
i | X[ BEREEXE 275,000 250,000 25,000
B X H 632,000 722,000 -90,000
* HRREEFEXL 260,000 350,000 -90,000
— | B AR 372,000 372,000 0
WREXRBEXH 100,000 100,000 0
B ERE S 100,000 100,000 0
HHEM R E X 50,000 50,000 0
EfEE T H 200,000 200,000 0
BIEEMRE X 260,000 220,000 40,000
SEEXH 15,000 15,000 0
FHHIH 50,000 50,000 0
HeEXH 64,000 64,000 0
EXIEEXH 3,500,000 3,500,000 0
EREXH 155,000 155,000 0
BIELEERE 155,000 155,000 0
EXREPHEQ) 30,167,000 29,679,000 472,000
FEEFHESIWZEE(3)=(1)-(2) 835,000 822,000 -472,000
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_21_

EER B | 29GEPELE | 2FEFELE | =
IR

B | A [GRERSRAT 0 0 0
5% EEEERGXZH 2,000 2,000 0
% 111*:& HiERE MSEX 1,000 1,000 0
Cm | X BB RS IS H 1,000 1,000 0
(- | YA FBEETH 0 0 0
& FERUVELIEXH 1,000 1,000 0
% fte 5% B i F 2 HH 5H(5) 2,000 2,000 0
U | e 2% Bl 2 B £ UK Z 58(6)=(4)-(5) -2,000 -2,000 0
. H—ERR S ERAEIRA 1,000 1,000 0
Z | U H—EZRHRIEASINA 1,000 1,000 0
DA BB R ARHRBASIA 1,000 1,000 0
ll)z%’ Z DD EENURAEHT) 1,000 1,000 0
*X. B m X EEAE R H 834,000 821,000 13,000
—g | X [ BARSREBRASIH 834,000 821,000 13,000
(Z ﬁ B B EWN AR S ERASIH 834,000 821,000 13,000
IS Z DD EENZ HEH(8) 834,000 821,000 13,000
5 |FDhDEEE S INZ EEE9)=(7)~(8) -833,000 -820,000 -13,000
¥ & X H(10) 0 0 0
e HR B £ IRz = BE A 51 (11)=(3)+(6)+(9)-(10 0 0 0
AR ZILVEEZ=(12) 0 0 0
ZEHRZILEEERS(11)+(12) 0 0 0
IRAEE 31,003,000 30,502,000 501,000
XHER 31,003,000 30,502,000 501,000
E=5|1%E 0 0 0




HEBUEEERHERY—ERARS

HERUEEENEEEETE EFEEHTFICHLTOERNERE) (Bifz: M)
B F ¥ B VFEEFHE 28FEFHE = B
BITEEIRA 1,200,000 900,000 300,000
EEE XA 1,200,000 900,000 300,000
£ | N |ZRIERZSUIA 1,000 1,000 0
Ol A s ISR EA VPN 1,000 1,000 0
B ZERFEE LEIRA 1,000 1,000 0
£ FEXEBIRAG) 1,201,000 901,000 300,000
) & BHEEXEN 2,402,000 1,702,000 700,000
iR m BHEXH 2,402,000 1,702,000 700,000
f ERAEYZHE(2) 2,402,000 1,702,000 700,000
SEREBESINZEE(3)=(1)-(2) -1,201,000 -801,000 -400,000
1z IR
£ | A [BRERSRAL@ 0 0 0
| X
¥ | AR B S S HEH(5) 0 0 0
—E | EREREE I ELE(6)=(4)-(5) 0 0 0
PE XD ERAEINA 1,000 1,000 0
F 2| MARSEEASIA 1,000 1,000 0
,:’9 2 /-\ EERMEESENARSHBALIRA 1,000 1,000 0
Hl% T DD EBHURAEHT) 1,000 1,000 0
AR
Vo | B [ZohoES R HES) 0 0 0
I [Z0thnEEELINE ZE6(9)=(7)-(8) 1,000 1,000 0
¥ fis & 32 Hi(10) 0 0 0
HEE SN ERE S ET(11)=(3)+(6)+(9)-(10) -1,200,000 -800,000 -400,000
BRI EEES(12) 1,200,000 800,000 400,000
ZHERIILEEERS(U1)+(12) 0 0 0
IRA&EE 2,402,000 1,702,000 700,000
XHEE 2,402,000 1,702,000 700,000
E51%5 0 0 0
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SHERERENERY—EXARS

(BEEEEEHEXEETH) (Bifz: M)
B F ¥ B VFEEFHE 28FEFHE = B
BITEEIRA 50,000 50,000 0
g | EEEIRA 50,000 50,000 0
E 3 SIAEERESEIRA 1,000 1,000 0
& ZIF BER L SIRA 1,000 1,000 0
B ZERFEE LEIRA 1,000 1,000 0
X ’ ;
5 EZFHINAG) 51,000 51,000 0
% % BEEXEXH 1,733,000 1,733,000 0
iR m BHEXH 1,733,000 1,733,000 0
f BRTENSHIET(2) 1,733,000 1,733,000 0
EXEFHESIZ EE(3)=(1)—(2) -1,682,000 -1,682,000 0
1z IR
£ | A [BRERSRAL@ 0 0 0
e | X _
¥ | AR B S S HEH(5) 0 0 0
—E | EREREE I ELE(6)=(4)-(5) 0 0 0
PE XD ERAEINA 1,000 1,000 0
F 2| MARSEEASIA 1,000 1,000 0
é 2 /-\ ERTEESENARPEBALIRA 1,000 1,000 0
Hl% T DD EBHURAEHT) 1,000 1,000 0
AR
Vo | B [ZohoES R HES) 0 0 0
I [Z0thnEEELINE ZE6(9)=(7)-(8) 1,000 1,000 0
¥ fis & 32 Hi(10) 0 0 0
HEE SN ERE S ET(11)=(3)+(6)+(9)-(10) -1,681,000 -1,681,000 0
BRI EEES(12) 1,681,000 1,681,000 0
ZHERIILEEERS(U1)+(12) 0 0 0
IRA&EE 1,733,000 1,733,000 0
XHER 1,733,000 1,733,000 0
E51%5 0 0 0
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AERUAEEENERY—EARS

EAREHGICDEFRUESEHEEZIETE) (B A)
B F ¥ B VFEEFHE 28FEFHE = B
ZEEEUNA 866,000 1,090,000 -224,000
#HEFEHHZESINA 866,000 1,090,000 -224,000
ljr} EERI BB BRI IA 841,000 1,065,000 ~224.000
EFERIESETEEZTSINAGER 25,000 25,000 0
= SIFERLEULA 1,000 1,000 0
= | A S ERLEUILA 1,000 1,000 0
= ZHF|REE L EULA 1,000 1,000 0
) BEFEHRAGO) 867,000 1,091,000 -224,000
- ANEEZH 746,000 971,000 -225,000
&K BRI H 746,000 971,000 -225,000
5 | X [EEEXH 121,000 120,000 1,000
lilé HERERREH 70,000 70,000 0
_ WIS EMRE X H 34,000 34,000 0
H REE X 2,000 1,000 1,000
FHHIH 15,000 15,000 0
BEREHZHE2) 867,000 1,091,000 -224,000
EETHESIZ EE(3)=(1)—(2) 0 0 0
1z Iz
;;EE; ; R ERE AL 0 0 0
24
”éfr% H [EREREEZHEG) 0 0 0
—E | EREREE I EEE(6)=(4)-(5) 0 0 0
_J IR
22 A FomoEmmAED 0 0 0
S
> ol H [FOROEBEHETE) 0 0 0
FE T DDEENE U ZEEE(9)=(7)-(8) 0 0 0
¥ fis & 2 Hi(10) 0 0 0
HHE S UNZ EZESET(11)=(3)+(6)+(9)-(10) 0 0 0
BRI EEES(12) 0 0 0
ZHERIILEEERS(U1)+(12) 0 0 0
IRA&EE 867,000 1,091,000 -224,000
XHEE 867,000 1,091,000 -224,000
E51%5 0 0 0
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EERITEEREEYERARS

(EERTEEEXFE EERTOMZRUMNENER) (Bifz: M)

EEREE VFEEFHE 28X EFHE = B
FRHEIA 1,400,000 1,400,000 0
IR REREFHGERA 1,400,000 1,400,000 0
= ZHRF EERLSIRA 10,000 10,000 0
w s ISR EA VPN 10,000 10,000 0
= | A EBRTRIF SR LSIA 10,000 10,000 0
3 EEFHRAGW) 1,410,000 1,410,000 0
(2 EXEXH 1,410,000 1,410,000 0
& | % SHEEIH 10,000 10,000 0
2 EERTIEEXIHE 1,400,000 1,400,000 0
lilé EEXHE 1,300,000 1,300,000 0
o — R HE 100,000 100,000 0
EEEHZHEQ) 1,410,000 1,410,000 0
EETFHESIZ EE(3)=(1)—(2) 0 0 0

1z Iz
S8 | A [REBBSWARG 0 0 0
g | X

¥ | AR B S S HEH(5) 0 0 0
—E | EREREE I ELE(6)=(4)-(5) 0 0 0
= X AR A URA 0 0 0
7 | IR B2 X 5 Rl A8 A URA 0 0 0
o | A AR AL A X SRR A S IRA 0 0 0
s FDMDEFURAE D) 0 0 0
53 fg PR XS ERAS 3,520,000 4,396,000 -876,000
— % % PR X 53 Pl HE A S 32 H 3,520,000 4,396,000 ~876,000
= | IR SR AR RRA S X 3,518,000 4,394,000 -876,000
& INOEREERARSERASIE 2.000 2,000 0
@ Z DD EE)Z H E1(8) 3,520,000 4,396,000 -876,000
FDMDFEBE R INK E58(9)=(7)-(8) -3,520,000 -4,396,000 876,000
¥ fis & 32 Hi(10) 10,980,000 12,604,000 -1,624,000
LEIE R INT EEE A ET(11)=(3)+(6)+(9)-(10) -14,500,000 -17,000,000 2,500,000
BRI EEES(12) 14,500,000 17,000,000 -2,500,000
ZHERIILEEERS(U1)+(12) 0 0 0
IRA&EE 15,910,000 18,410,000 -2,500,000
XHEE 15,910,000 18,410,000 -2,500,000
E51%5 0 0 0
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MOEREEEERRY—EXARS

(MOEELEEFE NANMEAIREESOMENER) (Bhr:M)
B & ®# B 9FEEFHE 28 EFHEE = B

FHEIRA 100,000 50,000 50,000
£ ROEEESHMEIWA 100,000 50,000 50,000
2 ZHF EER S UNA 44,000 43,000 1,000
= | 4R ZHF SRS SUINA 44,000 43,000 1,000
g | A ZHEF B LS UA 1,000 1,000 0
Z RORESBIEEZIFA 31,000 30,000 1,000
& MOEZSELSIWA 12,000 12,000 0
E EEEFHRAGU) 144,000 93,000 51,000

2
B EE S R 0 0 5
EEEFHESINZEE(3)=(1)—(2) 144,000 93,000 51,000

1= Iy
gg A [ERERZRATQ 0 0 0

g | X
i | R ER HEG) 0 0 0
— % |EREEEESINTEEE6)=(4)-(5) 0 0 0
| EEBIUEERAAINA 0 110,000,000 -110,000,000
Z | A MOEESHEEERFIA 0 110,000,000 -110,000,000
D Z DD EENURAEHT) 0 110,000,000 -110,000,000
u BEEEEEREXH 0 110,000,000 ~110,000,000
o BREAMIENEXH 0 110,000,000 ~110,000,000
g % HEBIEEXH 143,000 92,000 51,000
(- ROEESBEIEEIH 143,000 92,000 51,000
& | BERESERASZH 1,000 1,000 0
% Bl X A £ 1,000 1,000 0
1)} B EEMA R S RIEAS XN 1,000 1,000 0
b2 T DD EENZ HEH(8) 144,000 110,093,000 -109,949,000
— | ZDMDEEE S INKELE(9)=(7)~8) -144,000 -93,000 -51,000
¥ & X H(10) 0 0 0
LHIEEINZ EEE A ET(11)=(3)+(6)+(9)-(10) 0 0 0
BRI EEES(12) 0 0 0
SHRTIERZRE(11)+(12) 0 0 0
IRAEE 144,000 110,093,000 -109,949,000
XHER 144,000 110,093,000 -109,949,000
=51&5 0 0 0
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